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Moving disks form tower A to C.

How many disks do you want to move?4
Disk from tower to tower
Disk from tower to tower
Disk from tower to tower
Disk from tower to tower
Disk from tower to tower
Disk from tower to tower
Disk from tower to tower
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int a = 20 , b = 100;
cout<< rand() % (b-a+l) +a;
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#include <stdlib.h>

int main ()

' i
E for (int i = 1; i<= 20; i++ ) E
i { 1
E cout << rand() % 6 + 1<<"\t"; ;
E if (i85 ==20) !
E cout << endl; E
[ } i
i return 0; 1
) !
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#include <iostream.h>
#include <stdlib.h>

int main ()
{

unsigned int num;

cout<<"Enter a number: ";
cin>>num;

srand (num) ;



www.Toghraee.| CH ol do oo g aoli

cout << rand() % 6 + 1<<"\t";

if (i % 5 == )
cout << endl;

return 0;
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Enter a number:
3 4
6 4
5 3
1 )
Enter a number:
1 4
2 )
4 2
4 4
Enter a number:
3 4

6 4
5 3
1 6

Ol sla (65,9 45 all alls Az gi WS (o et 5 (9,5 Al sla (69955 el p o (0 &5 shiles
Dl Gy sl 29,5

Jb o a8 time &L 5l auly oo el aiile Bolas slacl ()5 Lawgy (goae 40,5 34l 4y 3L ey pudlgy ST
oo 2 4l e 1) ey g wles o 1) als cele HIME@ b . oS solinal s)ls 13 timeh ol wbels

) g el s ails 5

5b w5 Oge a4 ly Bed aslp ST .S sbml 1) Solie slacl by sl L e o FANA() mb a5 05i o el
Cols peplem Jglate Bolay slacl asliy sl )b ;o b oS cungs




www.Toghraee.| CH ol do oo g aoli

#include <stdlib.h>
#include <time.h>

int main ()

{

srand (time (0)) ;

{
cout << rand() % 6 + 1<<"\t";

if (i % 5 == 0)
cout << endl;

}

' for (int i = 1; i<= 20; i++ )
' return O;
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#include <iostream.h>
#include <stdlib.h>
#include <time.h>

int main ()

{

int back=0, front=0, face;
srand (time (0)) ;

for (int 1 = 1; i<= 2000; 1i++ )
{
face=rand () %$2+1;
switch (face)
{
case 1:
++back;
break;
case 2:
++front;
break;
default:
cout<<"Error!";
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cout<<"Front: "<< front<<endl;
cout<<"Back : "<< back<<endl;

return O;
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. enum TrueFalse {FALSE , TRUE}
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. enum Days {SAT = 1, SUN, MON, TUE, WED, THU, FRI}
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v enum Days { MON, TUE, WED, THU, FRI, SAT , SUN = 0}

enum Colors {BLACK = 2, GREEN = 4, RED = 3,
BLUE = 5, GRAY,WHITE = 0}
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i TrueFalse tfl,tf2; 1
+ Days dayl, day2 = SUN; E
' Colors colorl = BLACK , color2 = GRAY; :

E TrueFalse {FALSE, TRUE} tfl ,tf2;

' enum MyEnum {ALPHA, BETA, GAMMA};
1 int 1 = BETA;
y int j = 3+GAMMA;

' enum MyEnum {ALPHA, BETA, GAMMA};
i MyEnum x = 2;
' MyEnum y = 123;
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#include <iostream.h>

int main ()

{
enum PizzaSize{SMALL,MEDIUM, LARGE, EXTRALARGE};
PizzaSize size;
size=LARGE;

cout<<"The small pizza has a value of "<<SMALL;
cout<<"\nThe medium pizza has a value of "<<MEDIUM;

cout<<"\nThe large pizza has a value of "<<size;

return O;
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The small pizza has a value of 0

The medium pizza has a value of 1
The large pizza has a value of 2

Obss )l 9 5295 o &le

a5l a5 e bog il T b (23 Olse ] e WISl &5 0 (o0l LS (ol A (peagt sl o
sols H13 Lo Ll o 1, YOI acls ¢ nlys i 5l ooliinl (56l (gl Gt o)L 90 5 Ly 05,008 (689,95 lesS)]
a5 e 13 | VOIA adls b 29,5 ools £55 sl a0 canl BT 0uiS slml (29,5 g omb pusdlysn ST.coul

S azg &l

void function (int num)

{

cout << "My input is" << num << endl;
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volid main ()
{

d.al.:).' C)‘)jlwo

#include <iostream.h>
void hanoi (int, char, char, char);

void main( )

{
cout<<"Moving 4 disks form tower A to C."<<endl;

hanoi (4, 'A','B','C");

void hanoi (int n, char first, char help, char second) {
if (n == 1) {
cout << "Disk " << n << " from tower " << first
<< " to tower " << second << endl;
} else {
hanoi(n-1, first, second, help);
cout << "Disk " << n << " from tower " << first
<< " to tower " << second << endl;
hanoi (n-1, help, first, second);
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void functionl () ;
int function2 (void) ;

9



www.Toghraee.|

G o) 4 e gh 4ol

5 FUNCHION2 LU 5 008 o sl (Lo, T (o g 29,5 o @l g4 5 FUNCHIONT &b 568 508 90 0

aly 4 GleoS,l o @les 0 )5 096 b plisl (sl il (oo o dae g9 5l (295 by (LSl o @ls g5

PSS AxgS )

#include <iostream.h>
int function (void);

void main( )

-1 to end):"

]

1

o

: int num, counter = 0;

E float average, sum = 0;

E num=function () ;

' while (num != -1){

; sum += num ;

E ++counter;

: num=function () ;

i }

'

i if (counter !'= 0){

E average = sum / counter;
[ cout << "The average 1is
D)

: else

! cout << "No numbers were entered.’
v}

'

! int function (void) {

. int x;

i cout << "Enter a number

i cin >>x;

E return x;

1

;

" << average << endl;

<< endl;
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#include <iostream.h>

void main( )

b

' {

" int x= 1;
E cout << x;
E }

: cout << x;
b
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#include <iostream.h>

int x=1;
int £();

void main( )

{
cout << x;
cout << f£();
cout << x;

}
int f£() {
return 2*x;

VA
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#include <iostream.h>
int f£();

i void main( )

b

! cout << f();

i cout << f();

E cout << f();
E}

v int £() {

E static int x=0;
' SRR

E return x;
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E #include <iostream.h> E
Evoid main ( ) E
1l !
; int x=1; 1
. cout << x; !
i { |
E int x= 2; E
j cout << x; :
i } |
' cout << x; !
Vol :
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#include <iostream.h>

v void uselLocal ( void ); // function prototype
E void useStaticLocal ( void ); // function prototype
't void useGlobal ( void ); // function prototype
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void main ()
{
int x = 5; // local variable to main
cout <<"local x in main's outer scope is "<<x<<endl;
{ // start new scope
int x = 7;
cout <<"local x in main's inner scope is "<<x<<endl;
} // end new scope
cout <<"local x in main's outer scope is "<<x<< endl;
useLocal (); //uselLocal has local x
useStaticLocal (); //useStaticLocal has static local x
useGlobal (); //useGlobal uses global x
uselLocal (); //uselocal reinitializes its local x
useStaticLocal () ;//static local x retains its prior value
useGlobal (); //global x also retains its value
cout << "\nlocal x in main 1is " << x << endl;
} // end main
//uselocal reinitializes local variable x during each call
void uselocal ( void )
{

int x = 25; //initialized each time uselocal is called

cout << endl << "local x is " << x

<< " on entering uselocal" << endl;
+4x;
cout << "local x is " << x

<< " on exiting uselocal" << endl;

} // end function uselocal

// useStaticlLocal initializes static local variable x
// only the first time the function is called; value
// of x is saved between calls to this function

void useStaticLocal ( void )

{

// initialized first time useStaticLocal is called.
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static int x = 50;
cout << endl << "local static x is " << x
<< " on entering useStaticLocal" << endl;
++x;
cout << "local static x is " << x
<< " on exiting useStaticLocal" << endl;

} // end function useStaticLocal

// useGlobal modifies global variable x during each call
void useGlobal ( void )
{
cout << endl << "global x is " << x
<< " on entering useGlobal" << endl;
x *= 10;
cout << "global x is " << x
<< " on exiting useGlobal" << endl;

} // end function useGlobal

bl (oo 2 Oyge Al (9,5

local in main's outer scope is 5
local in main's inner scope is 7
local in main's outer scope is 5

local is 25 on entering uselocal
local is 26 on exiting uselocal

local static x is 50 on entering useStaticLocal
local static x is 51 on exiting useStaticLocal

global x is 1 on entering useGlobal

global x is 10 on exiting useGlobal

local x is 25 on entering uselocal
local x is 26 on exiting uselocal

local static x is 51 on entering useStaticLocal
local static x is 52 on exiting useStaticLocal

global x is 10 on entering useGlobal
global x is 100 on exiting useGlobal
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